program 19_mai_2009_14h;

uses wincrt;

var res,ch:string;

procedure saisie(var ch:string);

var i:integer;

begin

repeat

readin(ch);

i:=0;

repeat

i:=i+1;

until not(upcase(chl[i]) in ['A'.."Z"]) or (i> length(ch));
until (i>length(ch)) and (length(ch)in[1..50]);
end;

procedure construit (ch:string; var res:string);
var i:integer;
chvoy1,chvoy2,chcons1,chcons2:string;
begin
chvoy1:=";chvoy2:=";chcons1:=";chcons2:=";
for i:=1 to length(ch) do

if upcase(chli]) in ['A",'E",'I','U","Y",'O"] then

if upcase(chli])=chli] then chvoy2:=chvoy2+chli]
else chvoy1:= chvoy1 +ch[i]

else if upcase(ch[i])=ch[i] then chcons2:=chcons2+ch(i]
else chcons1:= chcons1 +chlil;
res:=chcons2+chvoy2+chcons1+chvoy1;

end;

begin

saisie(ch);

construit(ch,res);

write(res);

end.

Sujets bac pratique et corrigés sur
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